Juooguobogd

Joog
oot odn



gooo
gobogobbooobdogbboobuoobboobooobuoobboooboa
gbooggbooboboogoboogobooobobobbooboooboboboon
gbobbuoodgbbbuooouoobobbooobbboooobbboooobboao
gbuodgbooobuodgbobobobooboobboobuoobboobuooboo
gboobbogbbogdgboobooooboobbodbooboobuooboboon
god



010

020

030

040

0s50

060

ggboooogd

ggbobuogoobobod

Verlet 0 O0O0OO0O0OOOOOOOOOOOOOOO

gogbobobuoooobbbooooooboooobobooooon

gobobobooodgbboboooobobooouboboooon

gogbbobuogobbboooobon

18

26



010 oooogdddd

MDOOOOOO0O0O0000000000000000000000000000000
0000000000000000000000000000000000000000
0000000¢0000000NOOOOOO000 ry(t),ra(t),---,ry(t) 000000
0000%(t),7(t),-- 7y 00000000000000000000000000
000000000000000000000000 MM
00000000000000000000000000000000000000O0
0000000000000000000000000000000O00OOOOOOO
0000000000000000000000000000000000000000
000000000000000000000000000000000000000
00000000000 O000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000
0000000000000000MDOOODOO0O0OOODOO00O00O0ODO000O0
0MO000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000000000000000000O0
0000000000000000000000000000000000000
000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000
000000000 a,a.,e;0000000000000000000000000
0000000000000 (G=1,---,n0000000000000000000



010 0Oo0ooogboob 2
ooobobobooobdbTr=oKkoboboboooboboooooboboobo

T; +m1a1 +m2a2 +m3a3 (ml,mg,mg = O,il,iQ,- .. ,:l:OO), (Z = 1,‘ .. ,n)
(1.1)
oooooogo

00 1.1 00

00000000000000 a; = (a1, a1,,01.),82,as 000000000000
000000 7 = (2,y5,2)(i=1,---,n) 00000000 a1,as,a; 0000000
mi,me,m; 000 00000000000000000000 (3,N)000 R(,7)00
0000000000000 0000000i=10 X0O00:i=20 YOOO:i=30
7000;;00000000000000000NON=nXxm; Xxmsxmg 0000

gbobboodbboogdbbuoobboobobuooobbuoobobodnboobog
OO0 m,me,ms 00000000000 0O0OOOOO0O0O0O0O0O0ODOOOO0O0O000
goobobboobobbbbodddooooooobbboobbiOl parameter U OO
gbobouodgbbbuoogbbbuooobbbooobbbuooobbboaobbobon
gbuodgbboobbodbobuoobuoobboobodobobobboobooboon
gbogbobobogbboboobuobuogbbooboooboobbooboon
gbouodgboboobodboogbboobugbboooboobooobuooboon
ObOo0bOoboboobooboobuooboobuo NODDOD 260000

googobodbogobuodgbboobuoobboobboboboobuoobobo
gbogobuodgbbuoobbobbboobobboobboobbooboooon
gogbodbuogbbobobuogbuoobboobogboobboobuooboon
OOobOoooobooooMKSOODOoOOooooboooobobooooobooogoo
000000000000000001A=10""m00000000000000O00O00
gogooobbbobbobbobbbbobddddddddooooooooooooo
gboboLjooobooboboooboomooboboobobobooboonbo
OOo00o00oo0ooO0DboU0oo0oDOooo0AOCOOOODOUODODOUODOODOO
gbbbuoogobobouogbbbuooobobbebbboooobbbuoanbbn

b 1.2 00
goooobobbbbbbbbbbboobooouobououguuouuououoooao
gboboobobooooMDbODOObOooobobooboboobuoobobooDbo



010 0Oo0ooogboob 3

0000000000000000000000000000000000000000
0000000000000000 (1/2,1/2,1/2)00000000000000000
0000000000000000000000000000000000000000
000000000 (1/4,1/4,1/4)0 (3/4,3/4,3/9)0000000000000000
0000000000000000000000000000000000000000
O (1/4,1/4,1/4)0 (1/4,3/4,3/4)0 (3/4,1/4,3/4)0 (3/4,3/4,1/4) 0000000

goobooobobbobobbbbbobbbbooooboobooooogoooooaao
goboboboobobooMbOoboobooooooobobobobobbobobog
obooobog MbOODOOODOObLOOOobDOooboobooboobooboobo
ooooobooboobuoo MDOODOoboobooboboboobooboobo
gbobobooooboboobboogoboobao

b 1.3 00

gboogobogobogbobogobbuoobbuooug 1-200b0b0b000b00
gboodgbobobobodboogbboobuogbbooboobobooobuooboon
gobboooobboboooobbooo

gbooobogobogbodgboooboobobboobbuoobbuoobbodgboo
ooodnD -1<L<Ll10pg¢ugpouoobobbpbuoboobobobobuoonoono

i =x; + &0 (1.2)

0000000000000 0D0 00000 ;00000000000 000000O
0000000000000 00O0DOOOOO 10%000000000000000
O0o0<¢<1000000¢=2¢—-10000000000000O000O00ODOOO
goodgbboobodboobbouoboobobooboobbooobuooboon
gbogbobodgbbooboobbboboobuoobbooboobbobooobon
gboboomMbOOogooooboobobooboboobuobboboobo
goo

gbuodbogobboobbobobodbuoobbobbobboobuoobooboo
gbogbobuodboobobuoobbouobbouoobbooboobbooboon
gbobboooobbbuooobbouoobobboooobobon



010 0Oo0ooogboob 4

gbobobobobobbobobobobbobboobbobboobo32kitgboon
0000000000000000000000000000000000 220000
goboboooobobboooobbboooooboobood

gbobooboodaon

000 IR(IY)=513*TY+495485483
00 O R(IY)=DFLOAT(IY)/2147483648.D0

00000000000000000 I(IY)D00000000000000-2147483648
00 42147483647 00000000000 0OIR(IY) 0000000000 495485483 O
goboboobbougogoobbobbbodogoooob s1isuuoooboooon
goobbboobbbbouogoooobboosboobbboououuooooon
gbobodboobodbooodob 12902700 oogoooobooboon
0000000 (IY)OOODODOO IYO -1.000 1.000000000000O0DOOO

obgobooboboobuoobuooboobuoobuooboob Iyooooobooo
O00000000oooo IYDOO Iv=IR(IlY) D0DO0OO0OoooD R(IY) OO O
HEN

000 IY=IR(IY)
000 X=R(IY)

ooooXOd -1<x<10000000oao

googoobbobobobobobboobbbbbbbbbobbbbdoodouooooaa
odoboooooboobobmMbibooboooboboboboboboooog
gbbboooobbboooobbooobobbooobbooobbbooobbboo
gbogbobuodboobbuogbboobuoobbbooboboobobooboon
gbobogobooobobooobbuoobooobbdud 4 o0 0000o0onbogn
googobogobuoobbuogbbbboobboooobooobboooboon
gobbooggboboboogooboboooobbooooobbooooooboobo



020 0OU00Udooodondddnn

gbogbobuodbbbogboobboobooboobboobooobuooboon
000 g(r) 00000000000 0O0OO0OO00 rO00000C0O0OOOOOODOODODOO
oooooooooobooobobobdr0r+dr 000000000000 0OO00OO
O pdrr?g(r)dr 000 0000000000000 00O0000O0 4m2dr 000000
00000 p000000000000OD0ODODOOOODOOOOO g(r)=1000000
O000000D00yg(r) 0000?2000 000000000000O0O0O0OOO0OO
oobooobooboboooobobboébbODOOODOODOODOODODbOOD
gbobogboodbboobogbbooobooobbodr=000b0o0b0b0O0OO
000000000000 ¢g(r)=0000000000000000000DOOOO
gbogbobuodgbbodboobbuoobbodboobboobbobbbodobn
gbobobooogbbboooobbboogodg

n(r) = /Orp 4rr?g(r)dr (2.1)

gboud-Dogbudboobobobobboboobbobuodbuadgboobobbo
¢g(r)D0X0O000000000000000000000000000O0000000
gboboboogobboooobobad

oo 2.1 00
0012000 130000000000000000000O0Rn(r)00D0O0OO0OOO
0000000000000000000g(r)DODD0ODODOOO

0000 ¢g()000000000r07r+dr 0000000000000 pdrr2g(r)dr
000000000g(r)0000000000 ROODOO0000000000000
r,0000000000000dr000000000000000000000000
0000000000000000000000000000000000000000
NG(0:1000)000000000000000000000000000000000 7
0000000 NN=INT(r;/dr) O (NN-1)*¢r O NN*r 000000 NN OOOO



U220 0O0000boboooodgoo 6

0000000000000 0O00NG(NN)=NG(NN)+1 O NGO NNOODO 100
000000000000000D00 NN=INT(r;/dr+05) 0000 ¢g(r)00000
0000000 NN*r O0OD0O0O0OO0OO0OO0ODODO0O0OO0ODO0ODOO0OOOONG(NN) OO0
N/2*NT 0000 ANG(NN)=4rr?g(r)dr 00 000N OOOOONTOOOOOOO
gboogboobobo™oboboboboboboboboooobobobOobaNT
oooooooboobooooooooobobobobobobobobobobobo
OooboooboooboobobobobDboobo0bobobOobD NT=1oooooobo
00 n(r) 0 ANG(NN) OOO 00000000000000000000O0Og(r) O
ANG(NN)/4mr?drp 0000000

g(r) 0000000000000 DOO0O0ODOOOUODOOOOODOODOO
ooboboobouoooobooboobuoooobobobobobooboboobo
JoooobobobobodobobobiboibibibddD minimum image convention U U 0O 0O 00U
goboboooboboooooMbUoboboooboboooboboo,OobObbODbDODbO
oobooobooboboobooobboobooobbooop,bOoobbOoobbo
Og(r)0000000D00CO0O00O0O0O00OODODOOCOOO

gooogbobobbobobobobobobbobobooboobobobon
obooboboobooooooboboboboboobobobobbooooooog
00000000000000000000000DO0000O0OD0O00y(r) 000000
ooooo

obooobbooobobooobboobbooobbooobboobboobo
ooobbboboooobobobobooobobobooboobobobobo
oooooboboobobooobbuooobooobbuoobobooobobooobbo
oooooboobobooMDOOOObDOOoDbOoobobooboboobooobo
obO.00000  j00000000000MDOO0ODOOODOO yO000000D0
;j000MDOOOOO0OOOD j/O0OO0O000O0O0DO0ODOOOOOOOOOOOG—7
0000000 +—7/ 000000000000 D0O0OO0Og(r)D00000ODODOO RO
MDOOOOOObUOOoOObOoboobobooobuoobobyobOo yobOooboOon e
O00000 ROODUOODODODOUOOO0OOO0OOO0ODOOOUO minimum image convention
ooo@moboboooboobobbooboobobboobooboboboboboobo
O0z000MDOOOOOOOO L, 00000000L,0O0L, 0000000000
x000000000000000 L, 000 CLXOOOOO0O CLXH=CLX*0.5d0 O
obobboobooobooboooboon



U220 0O0000boboooodgoo 7

00 DX=R(LI)-R(L,J)
00 IF(DX.GT.CLXH) DX=DX-CLX
00 IF(DX.LT.-CLXH) DX=DX+CLX

000MDOOOOOOO0O0O0O0000000 DXOOL,/2000000—Ly/20
000000000 x00000000000MDOOOO0O0O0000000000O000O
0000000000000 FOOO0OO0O00O0O0O0O0FORTRANOODOOOOMO
INT(X) O MOD(X,1) 00 000000000000

00 DX=DX-CLX*INT(DX/CLXH)

gbouogboooobuodgbooobooboobbogbuogbboobuooboo
OooOo0 IFOoboobobooobooboboboooboboooboobobnboobo
ooobdobobooobobobob IF0oboboobobobobobobolIrFg
O00000000oooooooo0Odo 14000000000

000 ¢g(r) 0000000000000 0OO0000O0DO0O0O0ODOOOO0OO0O0OO
00000000000000004000000 ¢g(r) 000 01000000000
gobobodo

00 CHARACTER*1 A(40)/40% */
00 CHARACTER*1 ASTER/*'/,ONE/'1’/,ZERO/'0’/ BLANK/" ’/

g(r)000 GROODODODODOOOOOOOOO

00 DO 200 J=1,NR

00 GR=G(J)

00 IK=INT( GR*10.0D0 + 1.5D )
00 IF(IK.GT.40) IK=40

00 A(1)=ZERO

00 A(11)=ONE

00 A(IK)=ASTER

00 WRITE(*,110) X(J),G(J),N(J),A



U220 0O0000boboooodgoo 8

110 FORMAT(1H ,3F6.2,3X,40A1)
00 A(IK)=BLANK
200 CONTINUE

O0O000WRITEOOOOOX(HDOOODDODOODODOODOOOFORMATOODOODOO
0000000000000 0oooooDoo0oO0 g(ryO0O0OO0O0O0O0OODODOODODOO
00000000000 100D000000000 ¢g(r) D00 0.100000000.10
1000000000000000001,d0000O000O0O0Og(r)000O 09500 1.05
ob1o00b0boooboobobooobbnobgoboo10b0oboobobg
00000000y (r)=100000000 1100000000 100DODODODOOOO
gboogobuodboobbooboobbuoobobobodgbooobuooboon
gbobbooooboobooaooboo



030 Verlet UUOOOOOOOOON
Joddduooboon

MDOOOOOOOOOOObOObOOobODOobDOoOooOobOobOobOobOobobDOoobDOoo
gbogbobuodboobobuoobboobuobooobbooboobbooboon
gboudgboobboobboobodgbuooboobbobbooboobooboon
obobooooMbObOOobDoooobOoobobuobooboboooobboboobo
gbobbuooougobbobouoooboboboooobboooobbboooboboboo
goggobogbbodboooboobboobboobobuoobbooboon
gbbbuoogobbbooobboboooobbobd
gbbbuoooobbbuoooobbbouoodobbboqbbbod pnbD

dg p dp 5 d*q )
i m @ Mg = 7MWl (3.1)
2
1
DDDDDDDDDDDDDDDDDDDDDDDDDDDE:§L+§mﬁfDDDD
m

gbobbuoodgbbbuoooobboodobobbbooobbbooobbbobboo
gbobboooobbbuoobbboooobboboood

d dp 2
Q _ p — =-@Q, 000 ¢

a dt P (3:2)

1 1
gbobogbbogobooboobooooog E:§P2+§Q2DDDDDDDDD
oopUOO0ODOOODODOOCDDOODLDDO0O POOODODDOOODDOOt=00D0O
POQUUOD ROQOOODOODOODOOOOODOODOODOODObODOO

P = Pycost — Qpsint, Q = Pysint + Qg cost (3.3)

gooo
OO00000O000bO0o0bObO0obOoO0bOOoooO0oobOO0boobooooOonD AtO
oooooooooob t,=pAt0000 QUOD POOOOOOODOO @Q,0P,
gdiododooddddodododdddodoooooooooooooooobbobo
Uop00000000DO0ODOODODOO,UOP,,O0000DO0O0O0OOOODOO



O30 Verlet UOODOOOOOOODOODODOOOOOODO 10

0000000000000000000000000000000000000000
000000000000 000000000000000000000000000C0
00000000000 00000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000 A¢+000000000000000000000
00000000000 00000000000000 t=nAt000000000A¢t
0000000000000 000000000000000000000000000
000000000000 0000000000000000000000

000000000000 (33)000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000 000000000000000000000000M0O0
00000000000 0000000000000000000000000000
MDOOOOOOOOOOO0ODOO000000000 Verlet 0000 leap frog 0000
0000000000000 00000000000000000000000000
0000000 ¢, =nAt000000 Q, 000000000000 #,4,0000
P2, 0000

()»n00000O0ODODODO Q, 000000000000 O0O0O0O00OO F, 00000
oooooog F,=-@,0000
(2)00000 dP/dt=F 0000
Povrjs = Pu_rjs + FuAAt (3.4)
000000t 0000 Popp 000000000000
Poyijp = Poo1jp — QAL (3.5)

gbobobobobooooobobobobooobobobooooon leap frog
gbboooobbooobbbuoogbbboooobbooobobbooobbn
gogobbooogbboboooobbobuoooobbbooan

d
B3)n+100000000 Q,n 000000 d—?:PDDDDDD

Qn+1 = Qn + Poy12A8 (3.6)



O30 Verlet UOODOOOOOOODOODODOOOOOODO 11

ggooodgd

(4)Q,0000000 P,000000000000000000000 Puyjp0 Puyijs
00000 P, 00000000000

1
P, = §(Pn+1/2 + Pu_1)2) (3.7)

gogooo

ooo0oooooooooooooooo QU Py ,,00000000000000
000000000000000000000000000000O 34000 (3.7 0O
ooood Py P, 0000000000

At
Py=Poips + B (3.8)

OO000Orn=0000000000000 QOPROO

At
P_1/2 :PO_FO7 (39)

gooon

oo 3.1 0

Verlet 000 000000000000000000

At0Q,0P 00000Q,0P, 000000000000000000000000
1

000000000 E,==(P?+Q%) 0 Verllet 10 0000000000000000

2
gooboogobbbogooboboooobooobobuoooobbboooon

S, = % [Pg + (1 _ i(At)%)i)] (3.10)

0D0oo0O0D0oooon

D000 Q=10,FR=1.0000000 At=00100020000000000
0000 Q. P, E, S, 00000000000 P,,Q, E,00000000E,0 S,
0D00D0??0000000 E,00000000000000000O0S,0000000
0000000000



O30 Verlet UOODOOOOOOODOODODOOOOOODO 12

gbooobgdboogbogoboobboouobbodobbooboooboon
googbboobodboobbbuooboobobooboobbooobooboon
gbhoogodbooobuoobboobuoobbooboboobooobooboon
gbbobooogbobobuooobbo

gboogbbobogoobogbbooobuoobboobuoobbooboobobo
goooobbbobbobbobobbbbddddddododoooooooooooo
gbhbogboboobbggbooooboobuoobbuoobboobooobboooboon
gbbboogobbbooodobbboooob

oobooooboboboooo s, 0b0gbognbD obobobobooobooobooog
g, 0000000000DOO0OO0O0OOO0O0ODbObObO0ObLDO0ObOobDbOobDbOODO
gobobbbobobbbuoddoooooooobbobboooodmoooodod
gobogbobobboobbuooobbooobboobboooobboobboon
gbboboodgbobbodogon

00 3.2 00
003100000000000000000 AtO 0.1, 0.05, 0.02, 0.01, 0.005, 0.002,
00010000¢t=02000 Q, P, E000OCO0O0OOCOOOCOOOOOOOOOO0
00 At0000000¢At000000000000000000000000000
00000000 0000000

O0 x00000000DODO 2000000 z000x=2—2000000000
O000 UO0 POODOOOOODOO FOOODODOOOOODOODOOO AtODO
OO0bO0000bO0obOooboobooobogboDoboobooboDoboboboooooDoon At
O00006r=AA) 00000000000 0O0O0OO0OOOOOOOOODOOOO0
O000 lndr=mA+cinAt 0000000000 ODOOOOOOOOODDO kOO
gbobouooobbuooobbbuooobboooobbooobobobooooboboo
oooooooooMboboooooobooboboboboboboboboobog
gboogobuodbobuoobbboobbooboobbodbooobooboon
gobogbbooobobooobboobobuooobooboobboobboon
gbogbobuodboobobuoobbbuoobbooboobbodgboobobodoon
0000 AtODO0000DOOO00O0DOOOO0O0ODOOOO00ODOObO0OOODObOOOOOoo
Oo0O00bOOo0o0At0DOO0000ooOoO00obOoOoooDoOooDDO AtOoooooo



O30 Verlet UOODOOOOOOODOODODOOOOOODO 13

Oobo0ooboooooobooobobo0oboooboonD Atbooboooooboobogo
goooobbbobobbbbbbbbddddddododoooooooooooo
goo

Verlet 00000000000 DOOCO0O0 AtO0D00O0O0O0O0DODOOOOODODOO
gbooboooobboboog 20000

go32000000000000000000000b0bO00bbOo0bOo0oboOn
OO000b0o0b000O0obOAtOD00ODbOO0OO0OO00oO0DO0obOoobOobODOobobboogo
gbbboooobbbuodgbobbbouooobobboooobbboooob

gb 3.3 00

O03200000000000At=0.001, 0.0005, 0.0002, 0.0001, 0.00005, 0.00002,
0.00001, 0.000005, 0.000002, 0.000001 DOOOOOOOOOOOO02 0000000
Q, P, EO0DO0OOOODOOOOOODOOOOOOODOOODODOOOOO AtDOO
gbbboooobbbduoobbboooobbboood

0000000000000 ¢/At00000000000O0OD0OO00000OO0O0O0OO
gobuogbbggboobboobboobbobliobbooobboobboon
OO0O000MobdboOdVerlet DODODOODDOODOO0O 300000O00O0OODO0ODOOO
gobbbobobbouougooodoobobbbbbbooooobobbobobboogdaoo
Ooo00oooo0oOoOoobooOoOoOo0oobDOoboOb0O0 AtObDooOooooDooogo
goooogo

gobogobogbodbboooobuooobuooboboobbooboboboo
gooobbobbbbbbbbbbbbbdodooooooooooooooobn
000000000800000000000000D00OO000O0ODOO 1040000
000000000000000000000000000000O00O0OOO1 oo
OoboboooboobOobobooooboboooobooboAtooDoboboooogoo
0010“0000000000000000000000000000000AtOO
gbogbobuodgboboobooboobbuoobbodobbobobbobbooboon
gboboooggn



O30 Verlet UOODOOOOOOODOODODOOOOOODO 14

AtO0o00ooooooobooboombooooooooboooobooooboboOoo
OO0 AtO0D000D00O0DOO000O0DbOO00OO0bOO00oDOOoOoOOobObOOobODboOoObDOD
OO000DO000000At0O000D00ODO0DOoD0O

gboboboooobbboooobon
goooooboobbobobboobbbbbbbbooduoouououoooooo
gobobobobboooobobooouobbbooobbbooobbboooboboboa
googobuodbogbbooboobobuoobboboboobooobuooboon
gbogbobuodboobobbboobuoobbboobbodoboobbooboon
gbobbuodgbbodboobobuobogbobbooboobobuoobbooboon
gobobooggobobooogoobon
gogbotobgboboobuoboobobodgbobooboboobobogbo

1
A= NZ\E1+1—EZ<\ (3.11)

OOo00o0o0obo0oobooboooboooboobouobobooboOoobOon Verlet OO
gboogobbbodbuoobobuoobbuodgbbooboobbooboooboon
gbouodgbooobboobboobuooboobbodgboob obbooboobg
Oobo0o00bD At+00ooooboobooobooboooobooooboooboogo
gobobooooobboooooboon
gooobobobbbbbbbobobbbbbbbbbobbbobobooooooao
gbouboggbbuogbuogobuoobbuooobboobbooobbuoobooon
gbobbodboobobuoobboobuodobbouobbooboobobooboon
gbobbooogbbbuogooboboooobooooon
goboobogobboooobboogobbuoooooboo@moboooooobooboa
gbobboooobbuoodbbbooobbuoooobbooobobbooobboboo
obooooboob 10~20000000000000000 10~2000000000
gbobobooogbbbuoooobboboooon

oo 3.4 0

1000000 00b0ob0ob0oD0ob0 ADODooOOobOobOoboo 330bobOoD
Ooo0ooOoOOo0obo0oooboooboooooDbobo0oon0O AtooonoD 20000000
god



O30 Verlet UOODOOOOOOODOODODOOOOOODO 15

o 3.5 00
O0000000O00DO000DO00ooO0oobObOOoooooy=1.0,K=0000000
gobbooooboboboooboboooobood

gbgobuoobooboob otobuoobooboobooboobooboob
gbbogbbubbuoobbuoougbboobbuooobooobboobboon
gooo

gb 3.6 OO
O0O0O00bobOOO Verlet 0D OO0OO0ODODOODODOODODOO0ODODOODODOO
gbbbooggbbboooobbn

OO0 U0000000p 00000O0Verlet DODOODOODOO

Poy1y2 = Puo1j2 — @At (3.12)
Qn-i—l = Qn + Pn+1/2At (313)

gooooooosisudndn—10000000
Qn :Qn—l +Pn—1/2At (314)

0000000000000 P12, Pa1, 0000000 Qus1, Qn, Quy 000000
00

Qui1 — (2= (A)*)Qp + Qu1 =0 (3.15)

Ooooobooooooooob,=Ar0ooooo0oooboooooooogo
obooo axbooboobo

N —(2-(A))A+1=0 (3.16)
00 M, A 0000
Qn = AN + B} (3.17)

gboboogao



030 Velet0OOOOOOO0ODO0OO0OO0OO0D0O0O0OO00O000O0 16
1 ,

0 (1)0 cosa:1—§(At)2DDDDDALZ:eiWDDDDDDDDDDDDDDDD

O0At0000000

1 3
= At+ — (AP + —(At)° + - ..
Q@ t+24( t) +640< t)° +

gooo

00+ 00000 P, O
 Qu — Qny

1
P, = 5 (Pat1ja + Pac1po) = — oAr (3.18)
oooooon
0(2)0000 @y, P, 0000 Q,, P, 0000
At .
Qn = Qpcosna + | — Py sinna (3.19)
sin a
P, = Pycosno — <sma) Qo sin na (3.20)
At
oooooogoo
0 (3)0
1 sina '\’
Sp == |P} . 3.21

gbbobooogbbbuoooobbboooon

sina '\’ 1
=1——(At)?
() =130
oooooos,00obo0o0oooo0oo0oon E,0000 —%(At)QQ%D (At)QDDD
O000

00 3.7 00

0000000000000000 Velet 0000000000000 O000O0O0O
000000000000000000 At:%mmmm At:%DDDDDDD
0000000 Q, P, EODO 6Q, 6P, §E, §X = +/(6Q)?+)sP2 000000000

gbboooobbbooobboooboboooobbooobobbooobobboo



O30 Verlet UOODOOOOOOODOODODOOOOOODO 17

o 3.8 00
goooo At:Q—WDDDDDDDDDDDDDD wobboboooooooboon

100
0000 6Q, 0P, 0B, 6X 000000000 MM200000000

oo 3.9 00

0038000000000 AtODO0OOVED AtDDOO0DOO0DODODODOOOODDOOOOO
000000000000000000000O000000000 (Ax*0000000
Ooooooooé,oPOO0DOOOODOOODOOOOOODOOODOOODDOOO
0000000000000 (A 000000000000

gob 3.10 0O
2
gobooo At:%DDDDDDDDDDDDDD

gogbobgbobobobobobouubooooooooodgbobooboono
OO0 Verlet 0000000 0DOOO0ODO0OO0 At=200000000000 At:%%
gbobooggbogoobuoobbodbbuoobboboobobbooooboboon
00000000000000000000000000000O0O0O0O00(Q,, P,) O
gboodogobuogbbogbobugobbooboobboboobbooboon

oooobob booooboo ,000

Q(t) = Qo cos(at) + _H sin(at)

gbbboodidblaU

2
o= 2 cos ! (1 _ 1) — 1.150167 - - -
T 8

goooooooooon
Q(t) = Qo cost + Pysint

OO00O0Dbmoooobo2000000Verlet OO0O0DOO0ODOODOOOOOODOODO
gboodgbobobobodbogbboobuogbbboobuoobooobuooboon
OD0O000obOooboobobOoon 069157 < EL<180497 D00 OoobooOobDbDO
O AtODO000D0ODDOOOO0OOOO0DOOOO0O0O0DOOO0O0ODOOOOobODOOOo
gbbboogobbbuoooobbbuoooobboooon



18

40 0ODU0oU0U0dodooononnddn
Jodduobobooooggddd

Verlet OO OOMDOODOOODODOOODOOOOOOOoOoOoooooOoOoOOOOOO
goboooooonooooonogoogooogd
0odoooodooooiodoodoooooooonoodoooodong
0odoooodonooooooooooooodonooooooooodooon
000000000000 00000ooooooo MboOoOoOoooOoO (Rahman O
Stillinger 000000000000 O0OODOOODOOOOOODOO
gobooouoood
d*r

e

= F(r) (4.1)

000000000000 +0000 ») 00000000 +O, 2@ 26 @ »6 00
0000000000000000000000

1

Xe =1

(At)Fr®) | (k=0,1,2,3,4,5) (4.2)

gboboboogobbodado

goobobuogbbuogboboobbuoobboobboobobuogbbogobon
000000 t00 Xx(t) OOOODOO0O0 t+At 000 Xy(t+A)DODODODDODOO
goobogd

Xo(t+ At) = Xo(t) + X1 (t) + Xa(t) + X3(t) + Xu(t) + X5(t) (4.3)
Xi(t+ At) = X1 (t) + 2Xa(t) + 3X5(t) + 4X4(t) + 5X5(t) (4.4)
Xo(t 4+ At) = Xo(t) + 3X3(t) + 6X4(t) + 10X5(¢) (4.5)
X4(t+ At) = Xs(t) + 4X4(t) + 10X5(t) (4.6)
(t+ At) = Xa(t) + 5X5(t) (4.7)
( ) (t) (4.8)



040 0OO0OO0DOOO0ODOOOOOOOOOODOObOObDbOObOOODO0 19

0000000000000 0000ooooooooD xXjt+A)ooooooooo
FXit+A)ODDOODO Xi(t+A)OOO
_LE(X(t+A))
2 m
000000 000000 (0000ooooooom
00o000000o00ooO00oo0o0D Xt+A)0Do00oopooooo0 o000
Oooooooooog

) (At)? — X0 (t+ A) (4.9)

Xp(t+A) =X, (t+ A)+ Cid (4.10)

oobooooooogobo cyobobbobobooboooooboobooboooobogo
OO00oobobOoboboooc,0ob0bobbob0b0bOngd Nordsieck OO OO
O0000000D0000000000Gear 0000000 C,0000Gear 00O
gbobobooooboboooobbboooon

3 251 11

1
Co=—,Ci=—,0=1,03=—,Cy ==, Cy = — 4.11
0 207 1 3607 2 ) 3 187 4 67 5 60 ( )
ooon
00 4.1 OO
O00oooooooooooobooouooooooonooo
d*Q
—_— = — 4.12
9 g (4.12
Ooooon

At, Qo, Py=Q, 00000X,(nAt) 0000000000000 000000¢=0
0000000000000 000000000000000000000000000
ooooooon

1 1
Xo(O) - Qo, Xl(O) - P(]At, XQ(O) - —§Q0<At)2, Xg(O) — —épo(At)g
1 1

X4(0) = —Qo(A)*, X5(0) = —=Py(At)° 4.1

1(0) = 57 QoA X5(0) = S5 Po(A) (4.13)
ogoon
0000 Qy=1.0,F=10,At=00500020000000000000000003
goduouoooodod

, Xi{(nAt) , Xi(nAt
XO('I’LAt>, l(Tt), En <X0<nAt), 1<Tt>)



040 0OO0OO0DOOO0ODOOOOOOOOOODOObOObDbOObOOODO0 20

goooboogg

Xo(TLAt), %ﬁlf), En (X()(?”LAt), %?t))

opDo0000ooooo @, P, B, 00000000

gboobbbodgbbbbogbbuoobbooboobboogbooobboobon
gboogoobbodbobooboobbuogbbodooboooobbooboon
goodgbboobodboobboudboobobooboobbooobooboon
gbogbobuodboobboobdoobbuoobobobbooboobbooboon
gbboooboboooboobouoooboobboobboobooboboboon
gbogbobuodgoobuoobboobuoobboobobbogboobobooboon
gogdbobobuoogbbbuooooooobboooobbbboooobon

00 4.2 00
0041000000000000000000.2, 0.1, 0.05 0.04, 0.0625 0.02,
0.01, 0.00625, 0.005, 0.004 0000¢=1.000 Q, P, E00ODOOOOOOOOO
0000000000000 000000000000000000000000000
ooooooood

b 4.3 00
gboobbobogbobobbobooobooobbodbbuoobbuooboobob
gbogobuogbobbuoobbooboooobobooboobboobooboon
gobboooobogbbbuoooobbboooobbbdooouooobbood
gobboooobbbooobboboooobood
goboobbbbbobbbbobbbbbboboooboboououououuuoaoaao
oboboboboobouooboboobobuobbbo4r00b0b00oboonDg
gobobouboobbobboobugbuoobooboobboo20b0ooob
goboodgbobobogobbbogobbbooobboooobbooooobooboo
goodgboboobodboooobuoobooobooboobooobooboon
0000000000 m|AE|=l|E,w—E,|0000000000000OCOODOO
gbogudgbdbboobuoobobuoobboobobuoobbuoobbooboon



040 0OO0OO0DOOO0ODOOOOOOOOOODOObOObDbOObOOODO0 21

OO00oO0b0oboooAtboboboooogo

b 4.4 00
gbogbobuodoobuoobboobuoobboobuoobbodgboooooboon
goboogobobogobboogobbbooobbbooobbuoooooboobooo
gboogobuodgbdgbogboooobobuoobboobooobaobbooboon
gobogobobbgooooboooooboooboooboooobooooboon
oboobdbobobo2cb0b0obobobobooob 2b0b0b0oboboobo
goooo

oo 4.5 00O
gboobbodgbobuoguooobuoobboobboobboboobbooboboon
OO000b0obobooboobOVerlet DODOO0OO0OD0OODOOOOODOODODOOmIOO
gbobooggbogobodgbobooobbooboobbboobbuoobobbboobon
gooboogoobood

*Q aQ

gbobouodgbobobuodbbbuoogbboooobbooooboboooobooboo
OO0000o0obOoobOooobOooboobuoobobD Qb o Q:PDDDDDD
1

Ezi(P2+Q2)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

0000000000000 000000t=00 Q(0) =Q,, QW(0)=P, 00
QP(0) = —Qy — 2P

Q®(0) = 2aQq + (4a* — 1) Py

QW(0) = —(4a® — 1)Qo + 4a(1 — 2a*) Py

Q™(0)

0) = 4a(2a® — 1)Qo + (1 — 12a* + 16a*) P, (4.15)
0ooo
0000000
Q(t) = e [QO cos(V1—a®t)+ M sin(v'1 — a? t)] (4.16)
v1—a?

1—a?

P(t) = Q(t) = e~ [PO cos(V1—a%t)— Qo Falh sin(v'1 — a? t)] (4.17)



040 0OO0OO0DOOO0ODOOOOOOOOOODOObOObDbOObOOODO0 22

gbooobddib e=01000000000000000000000O0O0O00O0O0O0
goboggbbooobbobooobooobobobuooboobbobbooboon
gboboboooobbboooobboboooobobbuooobobooboo

g 4.6 OO
gogobobbbobobobobobobbbbbbdddodooooooooooooon
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDE:%Uﬂ%—Qz)D
goooo

dE AP _dQ
— =P —~ = P(—Q — 2aP P = —2aP? 4.1
B _p Q™ _ p(-q-2P) + QP = —2 (4.15)
ogoooooooooooooono
t
B(t) - E(0) = —2a / P(t)2at (4.19)
0
DDDDDDDDDDDDDDDDE(O)D

E(0) = E(t) + 2a / t P(t')?dt’ (4.20)

gbobogooobogboboobbdoobboobobbooboobobobooboon
gboogobuogobdoobouoobboobbobuoobbuoooobboooboon
gbogbobuodbboobbuoobboobuoobbooboobdobooooboon
DDDDDDDtDDDDDDDDDDDDDDDDDDDDDDDD

gooo /OA(t’)dt'DDDDDDDDDDDD

/t A(thdt' = At BA(O) + A(AL) + AQQAL) + - -+ A((n — 1)At) + %A(nAt) (4.21)

000000000 (A 000000



23

s b oboobtd
Jodduobobooooggddd
] [

gbobbooogbbbouoooobbodo

bLi(ri;) = de [(%)w - (%)6] (5.1)

oOooooOoooooooooooor; =r,—r;|0000 10 jO0O00000O0O0O0
gbooboogoobood

m., m .
H = ET% + 57«3 + ¢(r12) (5.2)

guoobobooogd
_ad)(ﬁz) . _a¢(T12) Oryz N _a¢(7”12) Ty — T2

mrL = a’l"l N 87”12 a’l"l N 87’12 T12 (53)
.. 8¢(T12) 8¢(r12) 87“12 8¢(T12) To — T

- _ S - 4

2 87“2 87”12 87"2 87"12 712 (5 )

gbobbooggbbboooobbon

m = 39.9m, = 6.63 x 10~ *°kg
e = 120kK = 1.65 x 10721]
o=34A =3.4x 10"""m

goboboodgidm, 00000000

OO000D0O000O00bO00oooooboog mye,c 00000 MKSAODOODOO
googobuodbbooobobboobuoobbooboobobodbooooboon
obobodboobobbooboobobooboobobo@mubboboobod
gbooobogoboobbuoobobuoobbuobbobuooboobobboon
gboobobouoooobbb ou0bbb mbbbobOo0d edggobboboooon



Us50 ODooggbbbooodgbbboooobboboooobbbod 24

gboogobuodbooobuogbboobuoobbooboobobuoobbobooon
goodgbooboobodboobboobuogbbooboobooobbooboon
gbogodgbbodgbbodbboooboobbudbe,cgboonbbooon
oobooboooboobooboboobooboboobboobooboboobo 10
Oo00o0oOo0o0oboOo0o0obOoO00oooobooO0oobobo00 Aoooooooooobooo
00000 g/mol 000000000 MPa,GPaOOOOODODOOODOOOOOOOO
goboboogoboood

oo 5.1 00
gobogoobogbbodbooobooobuooobuoobboobboooboon
OO0OO0OOVerlet DO0ODDOO0ODOOO0DOODOODOOODOOODOO
gbggdgbooobooobuoobbuobbuodobbodobbooobodoboo
gboobobood 200000000000 0O000O0DOO0OODODOODOOOODOO0O0
gboboogdgboboggboogbbogbbooboboobobbbooobboobbn
goboboooobobbooooboboooobbobooooobbood

oo 5.2 00

gobogobooboboogbod TI\/@DDDDDDDD 2.1x1071%s00 10000 1

gbooggbboogoboobool-obbboobbbood 0.02pstdbn 1000000

gbbboogobbbuooobbouooobbboooobbn
gboogobodgbbobobudobbogboobooboobobuogbbogbaong

gbooggobuogbbodgbboogbobuogoobooobooboboobboobn

000 m(vy+v) 0 000000000 DOOOO

gbooboobogoboogobuogoboobbuoobobuooobobbuoobboon
googobuogbbbbouoobuoobobboobuoobobuoobbooboon
OO000000O0bO0O0o0ooO0boooO0obooO0obO0oobOoboo Atoooooogo
Ooo0ooooooboo0oooo0oooboo0oobo0ooDboooAtobDboooDoobooo
gbobboooobbbuooobbodoogobboooobbbooooto

b 5.3 00
gbs2000000b0od0bbodbbobbuoobbuooooobbuoobboon



Us50 ODooggbbbooodgbbboooobboboooobbbod 25

goboboooon

oo 5.4 00
gbooobogobudbodobbodooobboobobboobboobboabn
gbogobuogbbodbboooboobobboobobooobboobboboon
gboogoobbodbbooobogbobuogbbbooobuoobobobooboon
gboogobuogubodgbooobuogbboboooboooboobbooboon
goo



26

ol UUOUUUOOOOOOOOOOO
HREEN

gbobogboboooboobbbobuooobboobboooboboobbooooba
gbogobuogbbuoobbobodbuoobboboobbuoobboobobooon
gboguogobugbbuoobbobuoobbuoobboobbooboboooon
gboogboobbodgboobbuoobbuoboobobooobuoobooboon
re JO0OD0O0O0O0O0O0O0O0O0O0DOODOOOOO0O0O0O0O0O0DOOOOO0O0O00000n
00000000000 0b00o0O0b00O0bO00DO0 Atoobooooobbboboo
gbogbobuodboobbooboobbuodobboobooboobobooboon
gbudgbbobobodboobboobuodobbbooboobbobbooboon
gboguodbgdbobogbooobuoobbuoobboobbobooboooon
gooboogoboood

lL.obobbooobugbbooboobobuoobboobooboboouoboo
gbobuogbbogbboogoodgbuoobbuooboboobobuogboboooboon
ggbboogbobobogbboodgbbooob ogbboooobbooon
gobgbogbbodboobboobboobooobuoobbooboooo
gobuodgbbogboboobbooouoooboobbodoboooboonn
ggbobboooobbboooooboboooobboboooobboao

2 000000Db0DbO0b0bOobOOobO0UObOUbDObfecObObDODOoDOoDOD
ooooooooOoOooooooooOd ».0g(r)0 000O0O0DOOOOOOOOO
gogobbbdud ngobbbooodgn TQDDDDD%(Tl—H"g)DDDD]DD
O00o0ooOOoo00o0oob0 AtODoooobooo0ooooooDbbooOoooDoo
gogodogoooboooodoad r0ddoooooooooobbbobbb
gobuogbbodgboooboobbuoooobuoobbboboooboonon
gobbogoboboobobboobobobooobbuoobbooobboobn
ggbbbuooobooodobbbooan



el ODOOOoOobObObDOOoOoOobObOOoOn 27

gboogobobuodgbdgbbooboobboboobbodboonoboobog
gbobogobogobuooooboboobuoobbooboobooboobboboon
googobuodgbboboobbooboobobuogoobooboobbooboon
gbogbobuodboobobuoobbooobbboobbooboobbooboon
gboboboogoboboogon
gbooobobobbbobobobooooboouoodouoooooooooooobooboon r,
goboboodggobbuoooobbbouogobbbuoobbbooogn

Gan(r) = ¢(r) — o(re) (6.1)

gooobbbbbbdbddodddgdddooooooooooooooooobon
Ubr. 000gooooobobodg n.gboobooobbooobooobboon
goboboogobboooogooo

E=FE.+ %(b(rc)]\fnc +27Np /OO o(r)ridr (6.2)

goooggbobbodbbobuogooboobboobboobbobuoooobobon
gboboooobobod
gbbbuoooobbobbbbooobbbuoooobbboooobbn

1. 0bbbuooobbbooobbboooon
2.fccO0D0ODODOODOO
. ugggobbboooboboboooobbouod

gbogbobuodbboobobuoobboobbbouobbooboobobooboon
gbobooobogbbuoobbuoobouoobbbbobodobbooboboooboon
gboogobodgbboobogbgbuobboboobooobuoobbooboon
gboogoboboobooobuoobbuoobbuoobobbooooboooboon
googoboboobobboobboooboooboooboooooboboboon
gbbbooogbobobuooaobbo
Ooboodoooooobodooodooboobooooood T,,0000o0ood
gbooboogooood

1 ,\ 3N
<Z §mZ’UZ> = TkTeq (63)



el ODOOOoOobObObDOOoOoOobObOOoOn 28

gogoooooooo
1 3N

Oo0o00oooo0o rogoooo0oUoooooo0oooooo obooooo
gbobooboogoobood

v = sv; (6.5)
OsO0000ooodoond s
3N 1 1 3N
TkT/ = Z émﬂ);Q = 52 Z éml’vf = SQTkT (66)
0o
T
S T oD
i 214Uy

gboogogoooboobboobboobboobboobobobooboobon
0000000000 7I"oooo0ooooooo0o00o000 "oooooooooo
gobbobobbouodoooddo ioobbbboddog s~10000000400n
gooooog

googbogbogobooobboobboobbuoobbobooobooobd
goobooooon

gbooggbodbuogboobboodgbooobboobooboooboboboo

gbooogbodgbbodbbuobobogobooobooobbooboooboon
gbouodgbobobobodboogbboobugbboboobuogbooobuooboon
gbobogoooboboboobooobuoobboooboobobobooboboboon
obobooboboobmobobboboo MDD OODODOODLODOOODO
gbogobuogugbbbboobooboboobboboooooboooboon
gbobobooggid

goboggbooboogbdogboobboobobooboobboobbooboo
gbogbobuodgbbboobbuodobbodgbbooboobboobobboboon
gbogbobodgbbobuoobbodbodoboobobbooboobbooboon
gboudgboboboboogbbobobuodgboobbogbuooboobobooboon



el ODOOOoOobObObDOOoOoOobObOOoOn 29

gooo

gobogobogbogooobbodboooobooboobobuoonobuooboo
gbboooobodbooboobbuoobboobbbboobobuooooboboon
gooobobobbbbbbbbbdodudduuuooooooooooooonon
gbogobuodgbbodoobogbobuodgbbooboooboobbooboon
OO000b0b00O0000o00o00D0obO0b0obOoU0obO0oDOoDOg Ayobom™@o
googboboobodboobboobuoobboobooboooboobooon
Oo0000
0000 A, —-AD000000 (4-A4)?0000000000000
1 M
(As) = Ag + (A; — Ag) :A0+MZ(Ai—AO) (6.8)

=1

gboboboooon

(A = (AD)2) = ((Ai — Ao — ((A) — 49)))
((Ai = A0)%) — ((4; — Ag))®

((64:)%)

1 2
M 4 M,l%)—«&—A@) (6.9)

uFﬂg

oboooboboooboMmMOOobOooboobobbobbobooboobooDbo
goodgbboobodboobobuoobooobooboobbooobooboon
gooo

gboogobobbobboooobobobboobboobbogbbooboo
gogooobbobobbbbbbbbooboodddododooooooooooon
gbhbobbooboboboobbobobbooobbooobooboboobbooboon
gbbogdgboboogbboodgboobouoobbobbaoboobuooboobboon
goooboobbobbbbbobbbbobbbbbbddooooooooooooon
gogoboobbobbbbbbobbbootboouuuooooooooooooooon
gbouodgbobobobodbobooobuodgboobobogbogbooobuooboon
goo

gbogobogobobbodobdaobboobboobbodobboabbodoboo
gbgodbboobooobbotobuoooooboobboobooboboboon
godgggggobbobobobbbbbbodddoooooooooooooooonon



el ODOOOoOobObObDOOoOoOobObOOoOn 30

gbogoboobbuodgbbogbbuobboobooboooboooboobooboon
00000/000000000000000000OD0O00000O0oOoOoOoDOODOO

gobogbdobobboobboobuooboobooobobboobboboo
gboboooogn

e OO DODOUOOLDOOOODLDUOODLDDLOOUODLDLbOOUOODLDbLUOOO
gbbboodobobbbooobbbuoooobbboooobbn

e b DbOUOODLDLDOUOOOLDOUOODDLDOOOODLDOOODLDbDOOOOn
gbbobuoooobbbuogoobbbouoobobboooobbboooon

e OUOUODLDOUOODLDOOOODLDOUOOODLDDLDOUOOODLDOOODLDOO
goboobboboboobbbbboddodoooooooooobbbobobmao
goo

e HUUOOOOOOLDDLDUOODLDLDDOOOLDDLDbDUOODLDDLOUOOUDLbOOOO
gbboggbobbuoobbuooobboooobbooobbooobboo
gbobobuoooobbomwoobobod

goobuogbbuogbbooboobuobooboobbuoouobbooboo
gbooooobuoobbuoobbooboboobuoobbooboooboboon
gbbooooobogobouobbodgbbuogogbboobbogboobooboon
gboogobuogoboobboobbooboooboobooboboobboboon
gboobooogn

b 6.1 OO
gbobogouodgbogboodboboobooobboboooboooboooboon
OO00000O0b0oobdb0Verlet D0O00D0O0O0O0O0ODOOOOODODOOOODO
gbobboooobbbouooobobbbboooobbodo

1)O0054000000000000000000000000000000000O00
ERERN
gobuodbogbobuoboobobuodoboobobbuoobboooboonon
OO000OO0O00DOOo00OO00DOO0O0ODOFORTRANODODDODOODOODOOO
gobuodgbboobuobbogboobbouobbogboobbooonon



el ODOOOoOobObObDOOoOoOobObOOoOn 31

gobogobuogobooboogobooobobobbodbobobuoobboobn
gogobbooobboooobboboooobon

00000000000 0D0O0000000000000D00D0000 N =256 (4x
4x4x4)000 fee0ODODODODOOODODODOOOOODODOOOOOOOOODOOO
ooooooo L, Ly, L, 00000000

2)000000000000000ODO0O0000D0DO0OOODODOOOO

3) 0000000000000 oooooooooDoDoOoooooooooOoOog
gobuogobooooboooboobobuoobboobbooboogboooonon
gobuogbboobboooboobbobboooobooooboooboonon

gogoboboooobboooodan

4)000000000000ooooooogogo

Kw) =Y %mivf (6.10)
ogoooood
U(r) = ;gb(rij) (6.11)
ogoooon
E = K(v)+ U(r) (6.12)

gogobbooooobboooon

1 > dg(ri;)
P = W Zmivi — ZT’M d’r’ij

i i<j

(6.13)

gobodgbboobboooboobobbbbobobooooboooboonon
ggbobboooobbooooobbo
ggbobboogoobbood

K) (6.14)



el ODOOOoOobObObDOOoOoOobObOOoOn 32

goooo

k
2 ((0K)?)
3N (K)?

Cy =

(6.15)

gogooo

5)00000000000000000 ¢g(r)0DD0DO0O0OCOOOOOOOOODDOO
O000y(r) 0000000000000 000O00O0O0OOOODOOODODOOO
00oo0o0ooboooobobooooooobobooobooMDbOOOoDoDoobooooo
gogggoubbbbbodoobuoobbbbodooooooobbbboooa
gogdguboobbbooobbbbboobbbobbodooooooooao
gogoogoooboooobobooogoubbbobbbooboxbbuooogao
L, 000 alxD0ODOOOO alxhOODOODOOO (3,N)DOOO0O0O xOOOOOOO
gd . 0000 reut20000
00 do 2000 i=1,N-1
00 do 1000 j=i+1,N
000 xx=x(1,i)-x(1,j)

000 if(xx.gt.alxh) xx=xx-alx

000 if(xx.lt.-alxh) xx=xx+alh
oo yYozoooOoO

000 rr=xx*xx+yy*yy+zz*zz

000 if(rr.gt.rcut2) go to 1000

00O r=dsqrt(rr)
O00g(r)0000000O0O0DOOOO
gooooooboobobbn

1000 continue

2000 continue

00000000ooooooooo0o0oO0oooooD gr)ODOoOODOoOoOooog
gobodbbooobobooobogbboobuoobbooboobobooboo
gooboooouoooboooboooboobooobobobooboobobooooboooDo
ooooooooboOoboOobOoOobbOoooOoboboOobbOOobOoobDOobobOoDO
gobuodbboobugobbogboobbodgobbooobbogboonon



el ODOOOoOobObObDOOoOoOobObOOoOn 33

goobbooogobooood

6) 0000000000000 0O00O0O000O0O0O000OODOOO0ODDOO r0) O
gogbbbuoooobboooobob

5(0) = 7 3 Iri(t) = s 0)P (6.16)

gboboobobobobo eptboboboooboboxyy,z00ooood
ggobbbooobobbbooobooooobobboooooobooo
gobogbbuoobbuooboobobbuoobbuoobobbodobbooan
00oo0oo0ooooooooooooodn(0)D00ODoDO0O0OCOOOoO0Oooog
or(t)—-r(0)00000000000O0ODOO

gooooo

if(x(1,i).gt.alx) then
00 x(1,i)=x(1,i)-alx
00 x0(1,i)=x0(1,i)-alx
O endif

0 if(x(1,1).1.0.0d0) then
00 x(1,i)=x(1,i)4alx
00 x0(1,i)=x0(1,i)+alx
O endif
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00 do 2000 i=1,n-1
00 nn=0
000 do 1000 j=i+1,n
000 xx=x(1,i)-x(1,j)
000 if(xx.gt.alxh) xx=xx-alx
000 if(xx.t.-alxh) xx=xx+alx
o ydz0O00OOOOO
000 rr=xx*xx+yy*yy+zz*zz
000 if(rr.gt.rtab2) go to 1000
U000 nn=nn+1
00O 0O ntable(nn,i)=j
1000 continue
000 nnum(i)=nn

2000 continue

godddooooobbobbboooooogouoobooobbbbooooo
00 do 4000 i=1,n-1
000 nmax=nnum(i)
000 if(nmax.eq.0) go to 4000
0000 do 3000 nn=1,nmax
00000 j=ntable(nn,i)
00000 xx=x(1,i)-x(1,j)
00000 if(xx.gt.alxh) xx=xx-alx
00000 if(xx.It.-alxh) xx=xx+alx
guoddyblzOoouooooono
000 rr=xx*xx+yy*yy+zz*zz
000 if(rr.gt.rcut2) go to 3000
guoooooooooobbbbod
3000 continue
4000 continue
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000 nn=0
000 do 2000 i=1,n-1
00O 0 npoint(i)=nn
0000 do 1000 j=i4+1,n
gooodg ---
00000 rr=xx*xx+yy*yy+zz*zz
00000 if(rr.gt.rtab2) go to 1000
00000 nn=nn+1
00000 ntabl(nn)=j
1000 continue
2000 continue
00O npoint(n)=nn

000 do 4000 i=1,n-1
00O 0O nstart=npoint(i)+1
00O 0O nend=npoint(i+1)
00000 if(nened-nstart.1t.0) go to 4000
000000 do 3000 nn=nstart,nend
0000000 j=ntabl(nn)
gooooog ---
30000 00O 0O continue
4000 O continue

gooo



el ODOOOoOobObObDOOoOoOobObOOoOn 38

npoint(i) 0 -1 000000000000000000000000iOO0O0000
00000000000 ntabl(i) O i=npoint(i)+1 O O npoint(i+1) 00000000
000
000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000 z,y, 200000000 mOOO0OO0O0O0O0 m»30000000000000
0000000000000000000000000000000000000000
000000000000000000000000000000 2700000000
0000000000000000000000000000000000000000
0000000

b 6.5 00
Ob063N=260000000000000000000O000O0O0O0ODOODODOO
obobbooboboobobobooboobooboob N=18000booooooo
gboodgbbobobodgbogbbbuodgboobbogbuoobooobuooboon
OO0OON=108, N=26 00000 OOOOOOOO

cepu0O0O00O0OOODbObOOOOOOOOODODbDObDObOObOObOObDODOD
OobooooobooooobooooboobooocpvboboobooooboooogD
gbogobbobooboboobobuoobbooboobboboobbooboon
000000000 cCcPUDOOOOOOOOODOODOD(OOODOODOOOOOOO
gobobooogoboboooom



